

A BOUNDS TAUBERIAN THEOREM

ALLEN STENGER

Abstract. We weaken the hypothesis and the conclusion of a Hardy–Littlewood Tauberian theorem, and apply the new theorem to deduce asymptotic behavior of the coefficients of an exponentiated lacunary series.

1. Introduction

Most Tauberian theorems state an asymptotic condition on a function as the hypothesis and an asymptotic condition on a related function as the conclusion. It is sometimes useful to weaken the hypothesis and the conclusion. We prove the following Tauberian theorem and give an application.

THEOREM 1. *Suppose $c_n \geq 0$ for all n , that $f(x) = \sum_{n=0}^{\infty} c_n x^n$ converges for $|x| < 1$ and that for some number $\alpha \geq 0$ and some positive constants k_1, k_2 we have that*

$$\frac{k_1}{(1-x)^\alpha} < f(x) < \frac{k_2}{(1-x)^\alpha} \quad (0 \leq x < 1).$$

Then there are positive constants k_3, k_4 such that

$$k_3 n^\alpha < \sum_{k=0}^n c_k < k_4 n^\alpha \quad (n \geq 1).$$

The asymptotic version of this theorem is a 1914 Tauberian theorem of G. H. Hardy and J. E. Littlewood [2, Theorem 8]. We cite the following form of their theorem, given in Korevaar [3, Theorem I.7.4]:

THEOREM 2. (Hardy–Littlewood) *Suppose $c_n \geq 0$ for all n , that $f(x) = \sum_{n=0}^{\infty} c_n x^n$ converges for $|x| < 1$ and that for some number $\alpha \geq 0$ and some number C we have as $x \rightarrow 1^-$ that*

$$f(x) \sim \frac{C}{(1-x)^\alpha}.$$

Then we have as $n \rightarrow \infty$ that

$$\sum_{k=0}^n c_k \sim \frac{C}{\Gamma(\alpha+1)} n^\alpha.$$

Mathematics subject classification (2010): 40E05, 41A60.

Keywords and phrases: Tauberian theorems, asymptotics of sequences, lacunary series.

2. Proof of Theorem 1

This argument is modeled on Titchmarsh [6, §7.52], that is the case $\alpha = 1$.

Proof of Theorem 1.

First we need bounds for $1 - e^{-u}$. For $0 < u < 1$ we have by the Mean value theorem that $1 - e^{-u} = e^0 - e^{-u} = ue^{-v}$ for some v with $u < v < 1$. In the range $u \geq 1$ we have trivially $1 - e^{-u} < 1 \leq u$. Therefore we get inequalities for each range:

$$1 - e^{-u} > \frac{u}{e} \quad \text{and so} \quad \frac{1}{1 - e^{-u}} < \frac{e}{u} \quad (0 < u < 1); \quad (1)$$

$$1 - e^{-u} < u \quad \text{and so} \quad \frac{1}{1 - e^{-u}} > \frac{1}{u} \quad (1 < u < \infty). \quad (2)$$

Write $s_n = \sum_{k=0}^n c_k$. To find an upper bound for s_n we observe

$$f(x) \geq \sum_{k=0}^n c_k x^k \geq x^n \sum_{k=0}^n c_k = x^n s_n. \quad (3)$$

Using this with $x = e^{-1/n}$, the hypothesis and (1) we have

$$e^{-1} s_n \leq f(e^{-1/n}) < \frac{k_2}{(1 - e^{-1/n})^\alpha} < k_2 (en)^\alpha.$$

Setting $k_4 = k_2 e^{\alpha+1}$ we have $s_n < k_4 n^\alpha$.

Let n be fixed. To find a lower bound for s_n we start with the just-proved upper bound, and observe that s_n is non-decreasing, to get

$$\begin{aligned} f(x) &= (1-x) \sum_{m=0}^{\infty} s_m x^m \leq (1-x) s_n \sum_{m=0}^n x^m + k_4 (1-x) \sum_{m=n+1}^{\infty} m^\alpha x^m \\ &\leq s_n + k_4 (1-x) \sum_{m=n+1}^{\infty} m^\alpha x^m. \end{aligned} \quad (4)$$

We will bound the last sum above with an integral. Let λ be a large number, to be picked later, that is independent of n and such that $\lambda > \alpha$. We take $x = e^{-\lambda/n}$. The function $u^\alpha e^{-\lambda u/n}$ is decreasing for $u \geq n$, because the derivative of its logarithm is $\alpha/u - \lambda/n \leq \alpha/n - \lambda/n = (\alpha - \lambda)/n < 0$. Therefore $m^\alpha e^{-\lambda m/n} < \int_{m-1}^m u^\alpha e^{-\lambda u/n} du$ and so

$$\begin{aligned} \sum_{m=n+1}^{\infty} m^\alpha x^m &= \sum_{m=n+1}^{\infty} m^\alpha e^{-\lambda m/n} < \int_n^{\infty} u^\alpha e^{-\lambda u/n} du \quad \left(\text{substitute } u = \frac{n}{\lambda} v \right) \\ &= \int_\lambda^{\infty} \frac{n^\alpha}{\lambda^\alpha} v^\alpha e^{-v} \frac{n}{\lambda} dv = \left(\frac{n}{\lambda} \right)^{\alpha+1} \int_\lambda^{\infty} v^\alpha e^{-v} dv = \left(\frac{n}{\lambda} \right)^{\alpha+1} I(\lambda) \quad (\text{say}). \end{aligned}$$

Using this with (4) and (2) we get

$$\begin{aligned} f(x) &< s_n + k_4 (1-x) \left(\frac{n}{\lambda} \right)^{\alpha+1} I(\lambda) = s_n + k_4 (1 - e^{-\lambda/n}) \left(\frac{n}{\lambda} \right)^{\alpha+1} I(\lambda) \\ &< s_n + k_4 \left(\frac{\lambda}{n} \right) \left(\frac{n}{\lambda} \right)^{\alpha+1} I(\lambda) = s_n + k_4 \left(\frac{n}{\lambda} \right)^\alpha I(\lambda). \end{aligned} \quad (5)$$

We also deduce from the hypothesis and (2) that

$$f(x) > \frac{k_1}{(1-x)^\alpha} = \frac{k_1}{(1-e^{-\lambda/n})^\alpha} > k_1 \left(\frac{n}{\lambda}\right)^\alpha. \tag{6}$$

Combining (5) and (6) we get $s_n > (n/\lambda)^\alpha(k_1 - k_4I(\lambda))$. Taking λ so large that $I(\lambda) < k_1/k_4$, we conclude that there is a $k_3 > 0$ such that $s_n > k_3n^\alpha$, as claimed. \square

3. An application

George Stoica [4, 5] proposed the following as Problem 11849 in the Problems column of the *American Mathematical Monthly*: Define numbers a_0, a_1, \dots by

$$\exp\left(\sum_{k=0}^{\infty} x^{2^k}\right) = \sum_{n=0}^{\infty} a_n x^n.$$

Prove that

$$\liminf_{n \rightarrow \infty} \frac{\ln a_n}{\ln n} \leq \frac{1}{\ln 2} - 1 \leq \limsup_{n \rightarrow \infty} \frac{\ln a_n}{\ln n}. \tag{7}$$

We will use Theorem 1 to show that there are positive constants k_3 and k_4 such that

$$k_3 n^{1/\ln 2} < \sum_{k=0}^n a_k < k_4 n^{1/\ln 2}. \tag{8}$$

Then we will show that this estimate implies (7).

Let's write $F(x) = \sum_{k=0}^{\infty} x^{2^k}$. We will apply Theorem 1 to the function $f(x) = \exp F(x)$, so that $c_n = a_n$. First we will show that $a_n \geq 0$ for all n . We observe that F satisfies the functional equation

$$F(x) = x + F(x^2)$$

and so f satisfies the functional equation

$$f(x) = e^x f(x^2).$$

We write this out and rearrange it as

$$f(x) = \sum_{n=0}^{\infty} a_n x^n = \left(\sum_{r=0}^{\infty} \frac{x^r}{r!}\right) \left(\sum_{s=0}^{\infty} a_s x^{2s}\right) = \sum_{n=0}^{\infty} x^n \sum_{s \leq n/2} \frac{a_s}{(n-2s)!}.$$

Equating the coefficients of x^n on both sides we get a recurrence for a_n :

$$a_n = \sum_{s \leq n/2} \frac{a_s}{(n-2s)!} \quad (n \geq 0).$$

Note that $a_0 = \exp(0) = 1$ and therefore by induction on the recurrence we have $a_n > 0$ for all n .

Next we prove the following simple asymptotic estimate for $F(x)$.

THEOREM 3.

$$F(x) = \frac{1}{\ln 2} \ln \frac{1}{1-x} + O(1) \quad (x \rightarrow 1^-).$$

Proof. We have

$$\frac{1}{1-x} F(x) = \sum_{n=1}^{\infty} (\lfloor \log_2 n \rfloor + 1) x^n$$

and

$$\frac{1}{1-x} \ln \frac{1}{1-x} = \sum_{n=1}^{\infty} H_n x^n,$$

where $H_n = \sum_{k=1}^n \frac{1}{k}$ is the harmonic number. Therefore

$$\frac{1}{1-x} \left(F(x) - \frac{1}{\ln 2} \ln \frac{1}{1-x} \right) = \sum_{n=1}^{\infty} \left(\lfloor \log_2 n \rfloor + 1 - \frac{1}{\ln 2} H_n \right) x^n.$$

The coefficients on the right-hand side are $O(1)$, because $H_n = \ln n + O(1)$, and $\lfloor \log_2 n \rfloor = \log_2 n + O(1) = (1/\ln 2) \ln n + O(1)$. Therefore the right-hand side is $O(1/(1-x))$. Multiplying both sides by $(1-x)$ we have the result. \square

We exponentiate this result. The additive error term $O(1)$ becomes a multiplicative factor of $\exp(O(1))$, and this is bounded above and below by positive constants. Therefore we have that there are positive constants k_1 and k_2 such that

$$\frac{k_1}{(1-x)^{1/\ln 2}} < \exp F(x) < \frac{k_2}{(1-x)^{1/\ln 2}} \quad (0 \leq x < 1).$$

Therefore Theorem 1 applies with $\alpha = 1/\ln 2$, and (8) is proved.

Now we will show that (8) implies (7), by showing more generally that:

THEOREM 4. *Suppose that $c_n \geq 0$ for all n and that $\alpha \geq 1$. Suppose there are positive constants k_3, k_4 such that*

$$k_3 n^\alpha < \sum_{k=0}^n c_k < k_4 n^\alpha \quad (n \geq 1). \quad (9)$$

Then

$$\liminf_{n \rightarrow \infty} \frac{\ln c_n}{\ln n} \leq \alpha - 1 \leq \limsup_{n \rightarrow \infty} \frac{\ln c_n}{\ln n}. \quad (10)$$

Proof. Write $s_n = \sum_{k=0}^n c_k$. Write $L = \liminf_{n \rightarrow \infty} \ln c_n / \ln n$. If $L \leq 0$ there is nothing to prove, so assume $L > 0$. Then given ε with $0 < \varepsilon < L$ there is an N such that we have $\ln c_n / \ln n > L - \varepsilon$ (and so $c_n > n^{L-\varepsilon}$) for all $n \geq N$. Then for $M > N$ from the hypothesis we have

$$k_4 M^\alpha > s_M \geq \sum_{n=N}^M c_n > \sum_{n=N}^M n^{L-\varepsilon} > \int_{N-1}^M x^{L-\varepsilon} dx = \frac{M^{L+1-\varepsilon} - (N-1)^{L+1-\varepsilon}}{L+1-\varepsilon}.$$

Divide both sides by $M^{L+1-\varepsilon}$ and let $M \rightarrow \infty$ to get $\lim_{M \rightarrow \infty} k_3 M^{\alpha-L-1+\varepsilon} \geq 1/(L+1-\varepsilon)$ and so $\alpha-L-1+\varepsilon \geq 0$ for all $\varepsilon > 0$ and so $\alpha-1 \geq L$.

Write $U = \limsup_{n \rightarrow \infty} \ln c_n / \ln n$. If $U = +\infty$ there is nothing to prove, so assume $U < \infty$. Then given $\varepsilon > 0$ there is an N such that we have $\ln c_n / \ln n < U + \varepsilon$ (and so $c_n < n^{U+\varepsilon}$) for all $n \geq N$. Then for $M > N$ from the hypothesis we have

$$k_3 M^\alpha < s_M = \sum_{n=0}^{N-1} c_n + \sum_{n=N}^M c_n < \sum_{n=0}^{N-1} c_n + \sum_{n=N}^M n^{U+\varepsilon} < \sum_{n=0}^{N-1} c_n + M^{U+1+\varepsilon}.$$

Divide both sides by $M^{U+1+\varepsilon}$ and let $M \rightarrow \infty$ to get $\lim_{M \rightarrow \infty} k_3 M^{\alpha-U-1-\varepsilon} \leq 1$ and so $\alpha-U-1-\varepsilon \leq 0$ for all $\varepsilon > 0$ and so $\alpha-1 \leq U$. \square

REMARK 1. The converse of Theorem 4 is not true in general, that is, (10) does not imply (9). In this sense our result (8) is stronger than the original result (7). To see that the converse need not hold, consider the example

$$c_n = \begin{cases} 1, & \text{if } n \text{ is a power of } 2, \\ n, & \text{otherwise.} \end{cases}$$

Then $\liminf_{n \rightarrow \infty} \frac{\ln c_n}{\ln n} = 0$ and $\limsup_{n \rightarrow \infty} \frac{\ln c_n}{\ln n} = 1$, so (10) is true for any α in the range $1 \leq \alpha \leq 2$. But (writing $k = 2^r$ when k is a power of 2)

$$\sum_{k=0}^n c_k = \sum_{k=0}^n k + \sum_{r \leq \ln n / \ln 2} (1 - 2^r) = \frac{1}{2}n^2 + O(n).$$

Therefore (9) is true for $\alpha = 2$, but not for any other α .

REMARK 2. The series $\sum_{k=0}^\infty x^{2^k}$ is a lacunary series and has been studied by several authors. In particular in 1907 G. H. Hardy [1] made an extensive study of this series (in §12) and the related series $\sum_{k=0}^\infty (-1)^k x^{2^k}$. Hardy proved more precise asymptotics for $F(x)$, specifically that

$$F(x) = -\frac{\ln \ln(1/x)}{\ln 2} + \lambda(x),$$

where $\lambda(x)$ is a bounded, oscillating function. We can rewrite this as

$$F(x) = -\frac{\ln(1-x)}{\ln 2} + \frac{1}{\ln 2} \ln \frac{1-x}{\ln(1/x)} + \lambda(x) = -\frac{\ln(1-x)}{\ln 2} + \mu(x) \quad (\text{say}).$$

As $x \rightarrow 1^-$ we have that $(1-x)/\ln(1/x) \rightarrow 1$, so $\mu(x)$ is a bounded function that does not go to a limit. Writing $f(x) = \exp F(x) = \sum_{n=0}^\infty a_n x^n$ we have

$$f(x) = \frac{1}{(1-x)^{1/\ln 2}} e^{\mu(x)}.$$

The factor $e^{\mu(x)}$ is bounded above and below by positive constants, but does not go to a limit, so the hypothesis of Theorem 2 is not met for our function.

Acknowledgement. Many thanks to George Stoica for submitting the problem [4] and for reviewing my work on improving the estimates. Many thanks also to the referee for a very careful reading and helpful comments.

REFERENCES

- [1] G. H. HARDY, *On certain oscillating series*, Q. J. Math. **38** (1907) 269–288. Reprinted with corrections in *Collected Papers of G. H. Hardy*, volume VI, pp. 146–167; Oxford Univ. Press, Oxford, 1974.
- [2] G. H. HARDY, J. E. LITTLEWOOD, *Tauberian theorems concerning power series and Dirichlet's series whose coefficients are positive*, Proc. Lond. Math. Soc. (2) **13** (1914) 174–191. Reprinted with corrections in *Collected Papers of G. H. Hardy*, volume VI, pp. 510–529; Oxford Univ. Press, Oxford, 1974.
- [3] J. KOREVAAR, *Tauberian Theory: A Century of Developments*, Springer, Berlin, 2004.
- [4] G. STOICA, *Problem proposed: 11849*, Amer. Math. Monthly **122** (2015) 605.
- [5] G. STOICA, A. STENGER, *Asymptotics for Coefficients: 11849*, Amer. Math. Monthly **124** (2017) 378.
- [6] E. C. TITCHMARSH, *The Theory of Functions*, Second edition, Oxford Univ. Press, Oxford, 1939.

(Received June 10, 2019)

Allen Stenger
2892 95th Street, Boulder, CO 80301, USA
e-mail: StenBiz@gmail.com